2. Wnite an algebraic expression tor the difference of > andn cubed. Z.

—_— >
3. Evaluate 2x + 5y% —3zifx=6,y=4,and z=7. S h 3.

\

4. Name the propertyused in the equation 1 = 6n. Then find the value of n.

@ 2Ce) »S -3 @4
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-

)z +80-=1 94
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For Questions 9-10, determine whether each relation is a functiop.

9. {(1. 5). (2. 4). (3. 5). (4. 9)} 10.x = -2

11.Iff(n) = 6 — 2n, find f(~1). Q z;: P i
-—
eN=¢~269 =6tT=h ¥
12. True or False: A linear graph can have a igaximum or a mini

P

13.DNraw a reasnnahle oranh chowino the relationghin hetween the femneratnre 13. = f




13. Draw a reasonable graph showing the relationship between the temperature
of a pizza as it is removed from an oven and placed on a counter at room
temperature, and time.

14. The sides of an equilateral triangle measure (2x + 4) units.

What is the perimeter?
( 2+ 3

15. Translate m? — 4 = ‘?r + 1 into a sentence.

For Questions 5-7, simBIify each expression.
5.2t2+5t2 + 3¢ :_“_7_‘.' . +3-k
6.7(r + 21) -5t — q
72(4a+b)?3..§'+';9t - té _b
Lat+lb =23a1

;nd the so ut10nsetfor3b 4 =8 if the replacement setis {1, 2, 3,4, 5}.

For Questions 9-10, determine whether each relation is a function.

13.

14.

15.

Temperature (°F)

Time

éx +)2

9.




2T =13 T (40— 1)

22.10(a+1)—-14a=9-(4a-1)

It ) = 30 . @ e’

For Questions 24 and 25, evaluate each e fresswn ifa=3,b=4,andc =

2 il £ _orH:q'bzmM-
25.§—b|1—a|"'9? q{ zl = _Cfg(z.)

aph the soluu_.n set. =
Zx-)=-S P =

26. SOIve l2x—1l=5.T

a5, -
Cou f’tLbs

27. Determine W

52945 = Y5

28. A magazine is on sale for 15% off the original price. If the original price of the
magazine is $4.60, what is the discounted price?

35 &9)

—~ and— are equivalent ratios. Write yes or no.

29. Solve t;—u =k, for v.

Z1.

22.

S i =GO e .

=

29.




Q;+9-=30 : j,_.._z_\“k " oz Y2
20.-2x=-16 n ﬁ\' = 20.

> = |
Ds(c+3)=15+2Qc-1) C."' _,153 :ucc: 21, =l
Sc +I= (S+9¢c -2

22.10(a+ 1) - 14a=9— (4a—1)

l
--

29, Solvet;—v = k:for V. k V f‘e o ‘ - ) 29& : e \"Y ""t

3
PSS oﬂtdb
30. How many pounds of peanuts costing $3.00 a pound should be mixed with 4 x -

pounds of cashews costing $4.50 a pound to obtain a mixture costing $3.50 a

pound? =0 ¢ F% z (}Q‘MS 30. .S
Chapter 2 x q 37< + q C '-{,S ,07:-— @ng)(.%




